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F R 4% (F1)

EFLEE ()

no | ) | e T 5 T 157 . i EALEES SHaRs)
1 BEl&| T |4ELREFKUEGRSREFTERT HIRNREE 618,000 600,000 |/NBEBIE(H) 6
2 Bl R| £ |FEINEEXBEBEKRFEMRLESRRT O 757K 15 9,200/m 8,500/ m | (%) B EHEEEMSE 6
3 |HB|&| F |ERINEEMKEERBEREERRE A D& %K5 30,890,000 27,040,000 |E£EIERER) 7
4 |$E|=| E |[FERIEECHKEREEXBZER BETR 2,730,000 2,440,500 |(BHZM B EFFHERE L 2— 6
5 B|l&| £ [HIERBELVI— K-HEEFIMEBRT HRBERS— 751,000 460,000 |RRERTI=HILY—E R(#) 6
6 B|&| T [HERI)—0 o 3—FAAF L VEAERVCEERRBEAEERB R Bk -2t a— 658,400 450,000 [HRETI=HILY—ER(#) 6
7 BE|&| B [BRE7ILI=OL H D5 K5 24/kg 24/ kg | RELE B (H) 6
8 |¥|&| B |REERESNIIL A D& %K5 54/kg 54/kg|RELEEHE) 6
9 |1B|=| ¥ [THIIEEIPEKEEA B R 2,750,000 2,372,000 |SRURSEEH) 6
10 (3| | ¥ |FRIEERRTHEBEHEBROTEEEEA AR 36,400,000 35,600,000 |(BA)HIRHBEFHK 8
1" (& B [B1-1/VavEAEE AR AR 3,720,000 3,088,000 |(B)Tvo R 6
12 |$#E|8B| I |[BINERRE=ZZARFETS BENER 1,640,000 1,600,000 | (BR)/MMAESER 6
13 (BB T [S1Ek+HBHNEREBELIS B3 Hh K 9,240,000 8,000,000 |(H)#B3+% 8
14 (BB I [B-1EEXEREERSEEMRIS it N 23,060,000 22,000,000 |;ZHEEER () 9
15 [$6|E| I [FkmEFTEBRFESIEISE B R 16,470,000 15,700,000 |(#) SAIHE 7
16 [fE|&R| & |[BXMITREWHEBRT BT RATN 2,770,000 2,683,000 | (¥k) EFHHF 6
17 |3 | 8| £ |SHUTEERRTHBESHEERZIBERSR B TR 2,600,000 1,648,000 | (%) R E ST 6
18 [$E| 8| £ |FRARBFMBEIZHEEHRZR HRRE 1,610,000 1,450,000 |(A) TR -E—Fa—T 6
19 [#E|EB| £ [VEHEMYEISHERATIEEHRETT(BAMHRK) EZAthM 17,160,000 17,000,000 |(#) =Ea> 4 LAk 8
20 |#6| 8| £ |VIE@HHE2SHERTIBLEETEAVIHK) B7E- EF#N 3,560,000 3,300,000 | () =ZarH LAk 6
21 |#B|E| ZF |0NIEBLEEELEEEEHRT B3 1,950,000 1,700,000 |12 8—F3F LTI ITIR—T AU (#]) 5
22 |#B|E| £ [VE#HRHLTARE I BSRMERIEBER KA 27,530,000 13,800,000 |(#) =Ea> 4 LAk 8
23 |[B|EB| £ [VEHRHLTARF2ERMEREBER KA 34,720,000 16,880,000 |(#) =EavHILAvk 8
24 |$B|E| T |0IEHRHALTHREIERMERAERRT KEHA 29,990,000 27,960,000 |(#) KIS =7YULY 8
25 || E| T |0FBEKRRUVTBERRIFEARERERRT BOH-EH A 4,910,000 4,700,000 | A&y +—5—(¥k) 7
26 |E|EB| F |0IRWKRFRUVTHEERRFERREHREBERR H O - #k A 4,310,000 4,100,000 |2 (%) 7
27 || E| £ [VIEHAHTKERMIIRDAVMIEREERET BRI 44,570,000 39,300,000 | (#k) BARAL—V 10
28 || E| T |BEMEAVMEMRBHMRTEBSR B N 7,280,000 4,140,000 |(¥R) 7AE—aH LAV K 7
29 [$B|EB| I [SREESXTEMNSREL I —EREIRIS ENEHEE4— 2,890,000 2,800,000 |;R:¥ T2 (%) 6
30 [#E|E| I |[FELRAMBERIS SRR 3,930,000 3,670,000 |(H)EEHRIT X 6
31 |—|E| I |HEREFAHEIE HRARE 39,310,000 38,800,000|(#%);i IO TH# /5 7
32 |fB|E| £ |0IEMTEGEDIISHRAMAMNEXRHFEERT FE N 2,070,000 1,790,000 |EE 1T RIZ &% &1 (%) 5
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no | xf | % LB %igf;q) %jﬁi;) BHEES SHaRs)
3 ||| T |BAEMTLL TILIEILR(ER) MED) =2t R— 86,800/t 114,000/t| (¥%) #13k T4 4
3 |$E|R| T |BEMTLL RF—ILTLR (K- MED) =2t R— 15,750/t 26,800/t| (¥k) Ki* 4
3% |HE|R| T |AEYTLL —BRITVTHE By )—th— 15,610/t 25,500/t | (¥k) #A3k T 4
36 |1E|EB| T |EHTEFNBISHRERABEITEBRERR EFR#RA 3,490,000 3,000,000 |3RFRAIZEHET (B 6
37 || E| T |0IHEEMSRAEHFEBER KE A 3,070,000 2,700,000 | () =Ea>HILEUk 6
38 |#E|E| £ |0IEMLE-XRMLHEREXRBFET A 6,100,000 5,500,000 | BAREEZIHILAU S (BR) 8
39 |H|E| Z |[FHTEERXRTKESEIXHBREAREREZR D 7% K15 AR KIS 3,160,000 2,650,000 |12 FEHE (k) 7
40 [#E|B| F |01-1S5RBEKEMBFEMRTEBRT SR EREE2-1 FEihith N 2,520,000 2,250,000 | (¥F) RIZEHE B HILEU 6
41 |$E|E| £ |BEENERBAIBRERNERRT EE X 2,760,000 2,640,000 | (k%) HIZEHEBHA 5
42 |$E|E| I |0IEEMEGENRSHEHEEBELIS KR A 8,700,000 8,500,000 |(B)=YEXRI% 7
43 |$E|E| I |VIEHRHAATEISERERTIS KRR 17,570,000 17,000,000 | (#%)#AAEE% 9
44 |$E|E| I |VIEHRHAATEISERERTIS KRR 18,820,000 17,850,000 [(B)#BEEHT % 9
45 [#B|B| I |[VIEWHFISEREEEHKEERRINETS RER#X 21,390,000 20,250,000 | (¥k) H BT 6
46 [#B|B| I |VIEWHF2ERESEEHKBERRNETIS RER#X 21,780,000 20,800,000 [/MEFAT T2 (#%) 6
47 |—|E| I |[0IEHRALTE2EERERTISE KRR 25,750,000 24,400,000 | (k) H & fifp 14
48 |—|E| I |0IEMBRHALATEISERERTIS KA 26,560,000 25,200,000 | (¥k) HEH T 14
49 |—|E| I |01 28BEHREANERRELS B3 A 54,780,000 52,000,000 | (¥) ¥E K 12
50 |—|&B| I |01-3EGEMBEAVNEMRBEISE B3 A 60,050,000 55,500,000 [7KIEREEER (#k) 12
51 |HB| | # |FEREEAIVEL—2E(H B O H stk 263,000/ A 259,800/ A | &HE (#) 6
52 || E| £ |0IHOHHRREEBRATERES B O H K 1,140,000 1,020,000 | =[5 R (#) 6
53 |6 |EB| Z (OIEHBOHEI-F2hl R TIEMESMERR HO A 20,230,000 19,000,000 | BAREERAHILEU - (FE) 10
54 |$6|E| Z |0IEHBOHEIRRR TIERERMHRTEBET HO A 7,910,000 7,200,000 | BARZEEFRIFILZU L ($R) 7
55 |1E|E| I |SHcEEFIDEEFKERAKIS it 3,300,000 3,300,000 | M (k) 6
56 |16|E| I |KRERAREEAMBIIUEIE KR 1,820,000 1,600,000 |=EFE R (%) 6
57 || E| I |BOHTERABTHEHRHABUEIE B O H stk 5,270,000 5,200,000 |;ZHEER (%) 7
58 |#|E| I |oIhETEAIEMRAIE it 13,310,000 12,500,000 |(F) FREE% 9
59 |$6|E| I |BRARKSGEMREFIAZGELIEIS AN S 5,540,000 4,620,000 | (¥k) K729/ R 7
60 |#E|E| I |01-55mREREEREEMRIS EEMN 2,200,000 1,480,000 | (#) R T ¥R 6
61 [$6|E| I |0IBEBMRALTE2EEREHRISE B3 1 N 9,200,000 7,400,000 |(F)#HEH 7
62 |$6|E| I |SMNTEEFINFEMEEREMHEIS i 23,070,000 21,800,000 | ¥R R 10
63 || E| T |ARMEAVMERREFMEAERZTR(ZD) B3 K 3,410,000 2,900,000 |3k A2 5T 6
64 |1E|E| ZT [OEHMEEFIBRISHRAMASERET A LR 5,960,000 5,600,000 |(¥R)7AE—aH LA b 7
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no | xf | % LB %igf;q) %jﬁi;) BHEES SHaRs)
65 |E|[E| FT (0MEEDITISBHRINAERETEHFRT HFARIHh A 8,570,000 8,300,000 |fRAHIEEZET(HE) 8
66 |15|E| I |01-6BERKEAREIE HPHHA 8,390,000 7,000,000 |;Ri¥ T Z(#) 7
67 |$6|E| I |01HEF2RISHRAEITRIS SR 2,470,000 2,360,000 |(B)tiERE 6
68 |#E|E| I |MEMERAMEEEZAEHIE S TR AR 1,550,000 1,480,000 |(B) BNER 5
69 |—|EB| I |0IEWRIALTEISEREHRISE INR A 25,960,000 24,600,000 |(H) 74 /1% 13
70 |—|B| I |[0IE#USHEEEERIE B 76,300,000 74,000,000 | R E % (FF) 12
||| T |BE®MTHN 7ILIEITLR(ER) ED) =2t R— 78,400/t 107,000/t| (&) #13k T4 4
72 |fE|=| & |BiEYMTEHN XF—ILETLR(ER) xR ) -t a— 18,970/t 23,500/t| (#%) K¥ 4
73 |$E|=| T |BAE®MTE FTILSTLR(RH-HR) By )—ts— 39,200/t 55,000/t | (&) %5k T4 4
74 |$E|&| FT |[HEWFEE RF—ILTLR (K- B xR ) -t a— 13,650/t 22,000/t| (#%) K 4
75 |t |=| T |FAEMTH —BRIFVTE k)=t 8— 14,910/t 21,000/t| (kk) Ak T 4
76 |fE|R| P [MEBRREEIATLEA S TR AT 56,400/ B 54,900/ B |BEEHE (k) 8
77 ||| £ |BERTHERERS ERBEPREZHFRVANDEFERZT I AR RIBI A — R A RER 1,800/h 1,500/h| (¥k) 78+ 6
78 |#E|B| ZF |FIREEEEETEEGMTMEERICGRIBESHBETTHEBRERT Bk A 7,290,000 7,020,000 | () =Ea>HI)LEVk 7
79 |$E|E| T [01KBEENRZ—IF)LEEGHGRI MR RB R 3E 75 1t P 5,500,000 5,130,000 |EEFLEaHILAU S (BK) 7
80 |16|E| & |01 2BEKEMBRBEHMRTERST HroHHMN 4,910,000 3,200,000 | () BEEHHHILHILEVE 7
81 |[$B|B| I |RINLASURXKGEZERBKBEHISE AILRSURELD 21,960,000 12,940,000 | 1LIE%fis T % (%) 9
82 |—|E| I |OIEWHAARIBEEISE &2 MR 37,210,000 37,000,000 [7K3ER5EEER (1) 12
83 || &| & |HEMTHN KBERISVIEEHLL AIEB A E 6,390/t 12,000/t| (%) Ex ¥ 4
84 || E| T |KEBFEHOOHENLAIEIERMERFTEREST IKERER SR H O HEIN 600,000 580,000 |(#F)FE 2732 LR ETH T 6
85 |16|EB| T |SHNREEMKTRERTOILRABRRBFEEFISHEEBERE BTN 5,420,000 3,950,000 |(—Bh &S EB G ERE2— 6
86 |1E|E| Z |01HEGEN150-625 MR BERAEEHRRT IKIEHA 1,870,000 1,850,000 |(#)hRithfiza )Ly 6
87 || E| Z |0IEMTEGEDI0SHRAMAEERHEERT HR A 1,350,000 1,060,000 |3/ BIZERET(HK) 6
88 16| EB| T |BOFEKEN2EKE THREETSE H D Fx% K5 3,720,000 3,500,000 |fBEHEHEER) 6
89 |$6|E| I |0IZEABRSERN\ITI)—HEISE =Rt A 2,280,000 2,200,000 |REEEH) 6
90 ($E|(E| I |0IEWTEGEREHRMESELIS =Rt A 5,620,000 5,500,000 |(#R)HXEERER 7
91 || E| I |0IEWHTEED2R28SRFEBETIS KBt A 7,300,000 6,850,000 |(AMEEREET % 7
92 || E| I |0IE#HTEGE)0B5SHERKERIE TRIAHA 21,280,000 20,000,000 [(A)EZFETE 10
93 |—|B| I |SMRTEERKTHRERTIALRARREFEEFIS kA 122,810,000 120,000,000| (#) B EBFES 1
94 [—|E| I [0EHTEGEFBINBSHRERIRIE EzM- SAMRK 110,310,000 97,000,000| (¥k) FREEER 12
95 |HE|R| F |FHCEEEHERTERERICRIAETSRR BN 1,210,000 738,000|h 5479/ R (1) 6
96 || E| T |0IKREHFHRFMKIKESRRATESRT KIZE A 3,250,000 3,000,000|(#) 7 A E—a>H LAk 6
97 || E| FT |0IKEBMIBHISHRIEBRS B3 K 9,550,000 9,000,000|(#) & X 8
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98 |$E|EB| I |FkRMALFNITRI—IIEHEEIIEISE BT 1 6,000,000 5,500,000|(#); LA L& 7
9 |$E|B| I |SNEERSTABEMIUEIE SN 8,090,000 7,800,000 (L& & # (#k) 7
100 |#E|=| B |[FSREKSF H D5 K5 2,765,950 2,113,600|7 XE JLEF9 (¥k) 6
101 |$E|E| I [RUEBIRVI—2DEI—IRBRERAMIVAVIRIATE Bk -2t a— 2,510,000 1,100,000 ((¥R)K¥ T = 6
102 |#E|E| I [PRAREHREKEREIS hR N REE 2,950,000 2,950,000 | P LLI £% i T 3 (#F) 6
103 (5| E| I |01BEMRELATHEISERERIE HOH A 3,190,000 3,100,000 ;R 3¥ T 2 (k%) 6
104 |$E|E| I |0IBEMRBHATHEISHEERZIS =R 8,150,000 7,100,000 LLI& B #1 (#k) 7
105 |$E|B| ZF |SHREERRTEBASEISEEGESEREMTEISHREEXBRE Pus:i1 920,000 850,000 |(#f)45E R L EH B AT 5
106 |$E|E| ZF |o1HEGEDAR205RAMAEEHET Er=3auln 2,530,000 2,450,000{(F)R X+ 6
107 |#E|E| £ |[0IE@EHTEEFIHRISRAMBERBERR ELEF#A 3,420,000 3,250,000|(#0)7AE—a>H LAV 6
108 |#E|EB| ZF |0IEETEG2RISHERRBRBRITEHRIT BA-E2 MR 5,240,000 4,950,000 | (%) 2 I i 6
109 |#6|E| T [RID»BIEREFEISE BkREEEH— 1,470,000 1,280,000 (¥k) EBER 5
110 (|| T |RAFUN—ERN-ZHEHICETDAMIRBEES RN RAAT & RUZOMBEEF 729,600 669,600| (#k) >—47 )L 5
11 [$E|=| 7T |BEWFTELL FILSEITLR(ER) xR ) -t a— 77,000/t 110,000/t | (#%) A k T 4% 4
12 [$E|=| 7T |BEWFTELL RF—ILTLR(FEK-HER) xR ) -t a— 10,290/t 23,400/t| (¥k) Ki¥ 4
13 [fE|=| 5T |BEWMFTELL —BRXIS5VTEH xR ) -t a— 11,900/t 22,000/t| (¥k) LAz 4
14 (|| Z |RIBEKREEFRVREVCARETRBREHEEBFRIT k)=t s— 1,550,000 1,520,000 |9 L& (¥£) 5
115 [#E|EE| I |RIAR—rEU2—KEFEIHEISE R—bkt 52— 2,110,000 2,000,000 |:E HEEE% (¥F) 6
116 (| E| I |WEALLBEBKRBEIS 3k Hh N 2,500,000 2,350,000 [ HEEE% (¥) 6
117 [#5|E| £ |01-35#EBPEEBEKEFMRITERER INREHA 8,430,000 6,800,000 (#%) IRIFHR B YL A b 8
118 (| E| ZF |01HOEMREBRAMFBEELRRS B o A 9,130,000 8,800,000( (%) FHRHEIHILEUH 8
M9 |#E|E| I [0EkTMBEGREREFTRELS EF-EEA 4,050,000 3,750,000| (#%) =8 T % 7
120 |#E|E| I [OHEBOH2TEEIMFEXEFRIEISE BoH2T BithA 4,900,000 4,720,000 (#) &AL E 6
121 |1 |B| & |KEREVARMB)OBIAEEEBER BIEB A E 94,700/ H 93,000/ B | (¥k) A A& 6
122 |$E|E| I [KEB#HEHOCOENMLIEISE KIS H O HE 6,260,000 6,140,000 |/NEF 4 T3 (%) 7
123 |f5|B| £ [KBEBEEHEVII)—FEOBFAELEBRT BIEB AR 87,400/ H 86,000/ B |(¥R)#2 H 2 5% 6
124 |$E|E| I |BOHNEFRATEBRRUVFRHAKEEAIS B O H/NER 1,890,000 1,700,000 |7 FH E2 5% (%) 6
125 (5| E| I |MERHTULPRAREARBTER—IEEZISE FRAREE 2,920,000 2,830,000 |(BR)Fk R 2R 2T 6
126 |$E|E| I |[PRAREHAvII—RIEIS hRAREE 8,210,000 8,000,000 ;& H & % (¥%) 7
127 |$B|E| I |BRAIBICHSREERIREREIS Bk ELE 3,160,000 3,160,000 (#%) — #8532 E% 6
128 |$E|&| T |RIBREEIUHERABSEBZR BB L — 3,340,000 2,950,000 (R ELEE (BR) 7
129 |$B| €| T |$MEEHXTPREBNRETESEERERT BiE 6,860,000 3,996,000 |(¥R)JTBRIR 4
130 (5| &| £ |RIBHEEBEREREBEE EEMN 2,230,000 1,190,900 [ EVEIE 3
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131 |—|E| I |#EFE—hERRETNYILERKEERIE B E— s 41,960,000 40,000,000 |(#);i IO T#JE 6
132 |6 |B| & [KEEEVDARTEFVNEMESERR BB A E 1,920/m 1,800/ m |(MR)RA R EEER 6
133 |[fE|E| I |PRAREHRFEERERIEISE hR N REE 33,760,000 33,400,000 |(#f)— i8R 8
134 [—|EB| T [01KEERNRZ—IFILEIEGIRIE AR 95,130,000 91,000,000 |(BR)ZEARILIEIE 11
135 |5 |&| T |$H2EE BETERLIVARIESRRR B R AR 1,640,000 1,478,000 |(B)HDSENR 5
136 |$E|=| FT |FF2HE LRV -CHRIEBER BRI AR 4,821,000 4,419,000 |(A)h D EIRI 5
137 |5 |&| F |$H2EE BHOV-IHERRERIERET BTN 1,425,000 1,194,000 |BOF7HEESHRZ 5
138 [$6 || £ |R2WEII— U 4—BEANESITLERES Bk — o a— 1,803,600 1,803,600 |RRETI=HIL-H—ER(#) 5
139 |fE|=| ¥ |HARK XD -t a— 43/kg 41/kg| R ELE = (FK) 6
140 || = | ¥ |WAREMER k)t s— 420/kg 390/kg| R SLE = (FK) 6
141 |#5|=| ¥ |MEHEHEH R ELI— 2,000/kg 1,720/kg|( B EBES 6
142 |$B|&| ¥ BT REH R ELI— 1,300/kg 1,080/ kg| R ELE B (HE) 6
143 |$B| | ¥ |KOERFEER R ELS— 900/ kg 650/ kg| B LB EHE) 6
144 |$5|&| ¥ |FHV—4 R ELS— 160/kg 125/kg| LG E () 6
145 |#5|E| T |RIEEIU—EVI—RIL—OKITE kY — o a— 39,550,000 32,800,000 (#BE Y —E R(#) 4
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